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20225t 1517| uY wats JH4E 918((2022.3.3. RLT11A27E 7IF))
EE]S i Er Zojps | 2ouy | orrg | FH | AP Y | .y | HHEE| TIHT| 29w
NSMA1003 | =01 2X &5 o BL oM 3 3 85 52 ddst 10,ﬁ,12 N13 509
NGSC1004 Mg £o| 23t E= BL oM 3 3 117 98 Azt 10’15'1[’12 N13 509
NBAS1009 HE M| o2 ON mM 2 2 40 37 oot E 234 S3 301
NBAS1010 O M7 ol ON nM 2 2 40 40 feRoe] E 78 S3 301
NBAS1010 o SMT| o ON nM 2 2 40 40 2o E 910 S3 301
NBAS1006 HMmga ojeidA o ON oM 3 3 80 80 T4 3 E 123 S3 101
NBAS1006 HMmga oA o ON oM 3 3 40 40 T3 E 789 S3 101
NGEN1008 &elof ofsf 0| BL mM 2 2 70 53 2AN 3t 10,11 S$3 301
NCFR1005 shAL| 0|5l o ON mM 3 3 50 50 ALy E 789 N13 101
NGPH1002 =0{Qt ACHALZ] o2 OFF oM 3 3 60 9 O| FA} 1oﬁ,12 N13 101
NGLI1006 A0It AtZ| o2 ON oM 3 3 45 45 rakeips| E 123 S3 201
NGLI1006 A0It AtZ| o2 ON oM 3 3 45 45 ME|H| E 456 S3 201
NGHI1005 B2 YE o2 ON o 3 3 45 18 gusl | o H, | s34
NGLI1001 SF2 E& 02| o2 ON mi| 3 3 61 61 dFz 10’%,12 S4 401
NGLI1001 SFE =& 0Oy o2 ON nM 3 3 50 50 FAE] E 123 S4 401
NGEN1009 719432 ofsf E= BL oM 3 3 77 56 dyst 1oﬁ,12 S3 304
NGLI1005 Oj=2o| o3l ol ON oM 2 2 60 60 H M E 45 S3 304
NGLI1005 oj=2| o|sf ol ON oM 2 2 60 60 B E 11,12 S3 304
NCCH1004 QI7to| EfA o ON oM 3 3 92 92 FEX| E 456 S3 301
NCCH1004 QIZto| EfA ol ON wM 3 3 80 80 FEX| E 789 S3 201
NGSP1005 AuAlfo| ALz JE ON 2M 3 3 80 80 ug | =23 | Mg
NGSP1005 Ao AL ol ON by 3 3 80 80 Zug | =ase | g
NCCH1007 Tpetr| ol WE ON by 3 3 70 44 gus | =23 | Mg
NCCH1001 Tpetr|sol A ol ON @M 3 3 70 16 Zus | =79 | Mg
Y AR AT B G Y wnEo s FE £7F PPN (AAA HEE AR E5E 4 dE4HTH)




